Dados

1x10°m = Inm ® Im’=10°cm = 1000L ® latm =101,3 kPa ® p, .= 1000kg/m®
kp = 1,38 x 107 /mol - K ) 1,66 x 107%"kg @ R = 8,314J/mol - K
VT = 343m/s ¢ v = c = 3,0 x 10°m/s
Espectro da Radiagdo Visivel: A = [400,700]nm
F/A=Y AL/L,

pat Yopv, it pgy,=cte ® p=p,+pgh ® Q=mcAT ® Q=mL ® P=ecAT*

PV =Nk, T = nRT

Gp—c=R ¢ v=c/ci e LV =TV o PV] =RBV]
AEteTm — Q + H/'sobre — Q - /pdV
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term
Aproximagdo: f= £ (v°"% + v)/(vord - vob%) @ Afastamento: f= £ (vo% - vobs)/(vorde + yobs)
D(r,t) = 2A cos(AD/2) sen(kr - ot); AD = kAr + AD
I — P/dtrea Y ‘B = (]_OdB)lOg(I/IO) Py I() = 1j 0 x 10_12“//7122

dsen (0, )=mA; m=0,1,2~ ® asen (Gp) =pA;p=12,3- ® Am=2AL/A;m=0,1,2-® 0,=1,22 /D
n,sen(0,)=n,sen(0,) ® 1/f=1/s+1/s'=(n-1)(1/R,-1/R,) ® m=-s"/s

Tubo,perto-aberto: L =M AM2; m=1,2,3,... ® Tubo . rohado: L=0M4;0=1,3,5,...
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